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1x8=8
A number which is divisible only by 1 and itself is called a _
number. : ) - -
. @Y &= 1 aa\ﬁrwmﬁ—im GIEEARYE __ IRY T A

(b)

(c) .

Say true or false :
(vrey at 2t o)

J81 is an irrational number.
V81 o weifite ey

Fill in the blanks :
R = TN

All facts __ - expressed are not statistics.
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(d)

Say true of false :
(7e7 at Ryt o)

" - Sample errors are not present in complete enumeration.

(e)

(g

T

(@)

(b)

(c)

(d)

(e)
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g AR ifreR AR R

sl st +HafS 2ferTm FoYe |

The slant surface area of a cone is

6 ¥ oo Jpaifer == ' I(W*Zcfwar)
D:éffhé perc‘éh_taéé | freql,ier}.(':&.i

ANoPa INTITOR AR T |

The row heading in a statistical table is called __ .
<@ = | (PTG 79 Fn) ®
Say true or false S |
eyt [t )

Frequency polygon is a free hand curve.

RIS T2 G TP T

2x5=10
Find the mean proportion between 1-21 and 1-69.
121 @GR 169~ Wy F TGS el e |

Define fourth Pproportion with an example. ' ' 4
THIZETR b9 TS A I | :

Simplify : _ ®
(== ) -

(64)('3 +27 y‘3 )-%
Solve for x (x-97 W T )
logoas (32)7 =

Express in the form =

qea kA -23
054
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' _ - oxm oo 3x5=15
(a) Evaluate : (any one) , il e,

T el TR ¢ (7 A )
@) log, log, logs logs (27)°

: %
. {9"*‘«/3 3" }
W@ |

3.43™"

[RLP IR & S

‘() If 1 mile = 1600 meters, find the number of acres in 90, 000 sg.m.

T 1 WEe = 1600 FOR T, O 90,000 IBHEE oz~ epmt I |

(¢) From a square copper plate of side 250m a 01rcu1ar dlSC of dlameter
l4cm is cut off. Find the wexght of the remamlng part if 1sg.cm. of the
- plate weighs 09 gram. | e
25cm IRRMS G o 1 czl% AT 14anaxm1%ﬁ%aasf% ceﬂamzrwﬁ &0
cwmﬁ,trﬁm%aefmﬁ cﬂmeww A 2, i cziﬁl%aarﬁwmemﬁ«ﬁ
a?czm ‘ ‘ Rt

on/aﬁaf

A room-has an attached Store Room and a balcony as shown in the
diagram below. Find (i) the total floor area including the-store room and
balcony. Also find (ii) how many pieces of tiles measuring 50cmx20cm
. will be required to cover the whole floor area.
Wﬁwﬁaﬁwmwﬁwwwﬁwwwmmml
(i) I GR SfOR W TR FFEpI @R e Fefa v (i) =2 IR oA
50cm=20cm JeoR Bize] e vieee 21 Foefd %ﬁﬁﬂm QAT T ?

< 12m ' u?_m_.,
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(d) Solve any one :

A (b) The list price of an article is 20% above S.P. and C.P.'is 30% below the
(T @I o3 SN IERD) 8 |

list price. Find the rate of discount and percentage of profit.

«f5 3w B 0 O Rl TR 20% Soia = @1 wi Bk Jee0e 30% T

v
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(i) X 4355 -2=0

Rz 721 @iz | @QR TV IR FCS 15[ 37 [l et |

6. Write a short note on limitations Qf statistics. "5
x+y=5 ARGl ReaieR TARFOR 6o <3 7Kg Bt e |
(e) Define marked price and inverse ratio. ' OR /€23t
TRe 7 @R RAFS AT TR\ G Distinguish between census and sample survey. Give reasons why sample
| , . _ survey is preferred. i
Answer either (a) or (b) : . . s @ ® e = effen simfer N4k Al | Bime afen womin afonf &% @w Sfteea Jww
(@) It (b) TR T I ¢ o T - PR (@A |
a) A conical vessel with radius 10cm and height 48cm is filled with water. . ) :
@ If the water is poured into a cylindrical vessel, whose radius is 20cm, 7. If the points (7, a), (-5,2) and (3,6) are collinear, find the value of a. S
" find the height (level) of water in the cylindrical vessel. ' (7, a), (-5,2) R (3,6) RTEET A W O @7 i A
L0cm T G7K 48cm Tt RRTE o =iep wpfea =it T oI e S -
2| Gz TEF 20cm IFIE KR «ole @ iR #iic oce e GiR sirafbre 8. . The diameter of a roller 120cm long is 98cm. If it takes 400 complete
el IO THOIE WA ? T revolutions to level a plot of land, determine the cost of levelling at the rate
L of 50 paisa per sq. meter. o ~ 5
() How many spherical balls each of radius 2cm can be made out of a solid 120cm &9 «RR 98cm 1 RS w3l @ ficy oo Tl Wi A=A Fa" S 400 A
metallic cube of edge 44cm ? | @RI 27 | &S IR 50 =171 w1 41 e W e =i e w6 [l i1
44cm ARPR G drgd TS AT 2cm IEIE RS w7l (IR MR = o |
0 (S AA? | ' o @ 9. In what ratio the line segment joining A(3,4) and B(5,-7) will be divided
, by x axis ?- : o ' 5
Answer etther (a) or (b) : | S A(3,4) X B(5,-7) RN GRS x 9% R Solice Roe @ R a1

(@) Tt (b) SR T FA ¢

(@ A fruitséller buys two kinds of Oranges — one at Rs.24 per dozen and
other at Rs.16 per dozen. These are then mixed up and sells these for
Rs.24 per 15 and thereby makes 5% profit on his outlay. Find the

. mixing ratio of two kinds of oranges.

T To Rowel 3 R I @ | G @R 24 Tl &S Tem Gk Sl oS
wo 16 B | (1 1R 4o et et e o ok 2ifS 15 Bite 24 Bt 3= [k
T GA] @ HOR GHT 5% S IR | YRR el 1 & wwpeties ifRe Jda

A
[4]
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OR / 594!
If D, E and F are the middle points of the sides BC, CA and AB respectively

of AABC where A(~1,5), B(3,1) and C(5,7). Show that ADEF'=;1}-AABC~.

AABC-99 D, E &R F &« BC, CA «’% AB = "gR™ | 3t A(-1,5), B(3,1) &K

C(5,7) W, (78 T ADEF:%AABC |
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10. Discuss the importance of tabulation in a scheme of statistical investigation.
What are the different types of tables ? 5

ﬂﬁﬂ"ﬂ]@ﬂ%ﬁﬂﬁ%@ﬁﬁﬂ%ﬁfﬂlﬁﬁmwmﬁmm |
CTCR | SR

OR/SI¥4d

-.

on each of these.

I o e fon fom W@ﬁ?ﬁwﬁemaﬁmwﬁ@ﬁw e |

|

' |

What are the various methods of collectmg pnmary data. Wnte short notes |
|

|

11. (a) Evaluate (I fd ) ‘ I o 4
Joo619 SRR o ®
Given (CReal SII®) | |

log 619 =2- 7917
Anti log 17 583 57 32
n OR /593t

If ()

asi—:‘c po% ;'dx+7’ }94:2:
N prové__t;ha;c (31311“1‘ az'czn <)
: L
log — =1
xlog —=log a

kb) What is the Adifferenée between Questionnaire and schedule ? . 2

epolE G} SIPHR o Fe 0«

(c) Define any two : 2x1=9
T P §foq Al @t 8 .
Parameter (2I6%1), Sample (afo), Statistic (ﬁf%"?'f‘ﬁ)
12. (a) Write a short note on various' types of diagram used in statistics. . 4

AR Rl aaes [fea Hrad 8w 3 REFG Tis @l
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.(b) Represent the followi_rig data -‘t.)y multiple bar diagram. . 4
ANvw vt <@ Boa i Sige | ' |
‘-Re'sults"o'ffParley‘Oa.k School for two yeafs.. C
Parley Oak School-d 17,{?5@3‘&@1‘«?‘6‘*I| | N o

| | }. Year (I=)

No. of students passed 2014 2015‘
(B8 zonl T W) | |
Ist division (el Reis) B 240 300
2nd division (&S Ree) | . 180 180
3rd division (P17 [ei) ‘ 60 40
13. (@) Fill in the blanks : - , C : | 3x i=3
‘ g A e ¢ : |
) () 20% of S.P. = _ % of C.P.

RETIETa 20% - AT ,
(i) The area of an equilateral triangle of side ‘@
‘@ IRMY TR Terem i = ) |
(iii) Two ogives (less than and more than) intersect at the pqint

T S G @R GRS Sl e AGES! TEH qR IO I Ry

(b) What are the objectives of classiﬁcaﬁon ? Name various types of

classification with examples. S

el Soy Fe Sy Rt aifiead Aafe8 Ry @t |
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14.

OR /&34t

In a sample Study about gender and literacy rate in two villages the followmg
data were observed.

ﬁmﬁwm\wwemwaﬁﬁ%ﬁww%@%ﬁsvmarww| |

Tabulate the following supplying the missing 1nformat10n
A A wy o I N oret SR AT FeA ¢
Village A : 70% were males
8N A 70% %FF
' ‘ 80% were literate

80% fifirs
62% were male literate
62% FF MfEFe

Village B : 55% were males

8N B 55% “Fq '
35% were female literate
35% wfEe i
25% were male literate

25% oF% Miffee

Following are the weights (in kg) of 40 students in a class.

B @ 40 T YI-PE0R & (kg) TNE @A SR

- Prepare a frequency distribution table showing tally marks taking class

intervals as 15-19, 20-24, 25-29 etc. Also find —

ﬁ@%cﬂwmﬁﬁﬁwmﬁmaﬁm@wﬁm@mmﬁmmmlm@m
15-19, 20-24, 25-29.. ﬁwmnwﬁmmwm—

(@) The frequency density of each class

(b) The percentage of students whose weight lie between 25-49.
25-49 kg SETR TE AW oA QY el e |
30 42 30 54 40 48 15 17 51
42 25 41 30 27 42 36 28 26
37 54 44 31 36 40 52 36 22
30 31 19 48 16 42 32 21 22

46 33 41 21 <
« 5+1%+1%=8
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